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NEW QUESTION 1
A user complains about poor database performance. You suspect that the user’s session is waiting for an event to complete.
You want to verify this.
Which two views may reveal for what the user’s session is currently waiting? (Choose two.)

A. V$SYSTEM_EVENT
B. V$SESSION_EVENT
C. V$SESSION_WAIT_CLASS
D. V$SESSION_WAIT
E. V$SESSION

Answer: BD

NEW QUESTION 2
As the DBA, you execute this command:
GRANT SELECT ON hr.emp TO brown WITH GRANT OPTION;
BROWN then executes this command:
GRANT SELECT ON hr.emp TO scott WITH GRANT OPTION;
Which is true?

A. You can revoke only WITH GRANT OPTION from BROWN.
B. BROWN can revoke only WITH GRANT OPTION from SCOTT.
C. When you revoke the SELECT privilege from BROWN, it is automatically revoked from SCOTT.
D. When you revoke the SELECT privilege from BROWN, nothing is revoked from SCOTT.
E. When you revoke the SELECT privilege from BROWN, only the WITH GRANT OPTION is revoked from SCOTT.

Answer: B

NEW QUESTION 3
Examine the command: CREATE USER user1 IDENTIFIED BY user123
DEFAULT TEMPORARY TABLESPACE temp
QUOTA 5M ON system PROFILE hr_user PASSWORD EXPIRE;
Which two are true? (Choose two.)

A. The PASSWORD EXPIRE clause is invalid because passwords are controlled by the HR_USER profile.
B. USER1 requires a quota to be able to store objects in the default permanent tablespace.
C. USER1 will be prompted for a new passport at first login.
D. A quota on the temporary tablespace must be specified to enable USER1 to perform queries and transactions.
E. USER1’s account is locked.

Answer: BD

NEW QUESTION 4
Which two statements are true about the tablespace SEGMENT SPACE MANAGEMENT clause? (Choose two.)

A. It applies only to tablespaces with uniform extent size.
B. It overrides the DEFAULT STORAGE clause specified for a tablespace.
C. It specifies whether used and free extents are tracked using free lists or bitmaps.
D. It specifies whether users have direct control over space allocation for the objects in a tablespace.
E. It applies only to permanent tablespaces.
F. It applies only to smallfile tablespaces.

Answer: CD

NEW QUESTION 5
A database is configured to use automatic undo management with temporary undo enabled. An update is executed on a heap-organized table stored in the TBS1
tablespace. Where is the undo stored?

A. in the SYSAUX tablespace
B. in the undo tablespace
C. in the redo logs
D. in rollback segments
E. in the temporary tablespace

Answer: A

NEW QUESTION 6
Which two backup configurations are set by default when you choose Cloud Storage Only as the backup destination? (Choose two.)

A. encryption of backups only for Enterprise Edition databases
B. automatic daily full database backups
C. RMAN incremental backups in a seven-day cycle
D. encryption of backups only for High Performance and Extreme Performance database versions
E. on-demand backups that need to be scheduled
F. encryption for all backups
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Answer: CD

NEW QUESTION 7
Examine these commands:

What is the expected result?

A. It fails because EMP.DAT has some records with more than three characters corresponding to U1.EMP.ENAME.
B. Only the first row in EMP.DAT is inserted into U1.EMP.
C. Only the first and fourth rows in EMP.DAT are inserted into U1.EMP.
D. All rows in EMP.DAT are inserted into U1.EMP but ENAME is set to ### for the second and third rows.
E. All rows in EMP.DAT are inserted into U1.EMP but ENAME is set to NULL for the second and third rows.

Answer: D

NEW QUESTION 8
Which three types of files are used by conventional path SQL*Loader when the TABLE option is not specified? (Choose three.)

A. control files
B. bad files
C. input files
D. password files
E. server parameter files (SPFILE)
F. dump files

Answer: BCD

NEW QUESTION 9
Which two are true about users who are granted SYSDBA or SYSOPER privileges? (Choose two.)

A. Only users granted SYSDBA can query or update tables in all user schemas.
B. Only users granted SYSDBA can take a complete backup of a database.
C. Users granted either SYSDBA or SYSOPER connect to an instance as SYS.
D. Users granted either SYSDBA or SYSOPER can mount or open a database.
E. Only users granted SYSDBA can start up and shut down a database instance.
F. Users granted either SYSDBA or SYSOPER can query data in all user schemas.

Answer: BC

NEW QUESTION 10
Which is a machine image in Oracle Cloud?

A. the number of OCPUs and amount of memory allocated to an instance
B. the physical persistent block storage space allocated to an instance
C. the number of OCPUs, amount of memory, and persistent block storage space allocated to an instance
D. a template of a virtual hard disk of specific size without an operating system installed
E. a template of a virtual hard disk of specific size with an installed operating system

Answer: E

NEW QUESTION 10
In your database, you want to create a tablespace of non-standard block size by using this command: CREATE TABLESPACE ns_tbs
DATAFILE ‘/u01oracle/data/nstbs_f01.dbf’ SIZE 100M BLOCKSIZE 16K;
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Which is a requirement for this command to succeed?

A. All other DB_nK_CACHE_SIZE parameters should be set to zero.
B. The DB_16K_CACHE_SIZE parameter should be set to a value that can be accommodated in the available SGA.
C. The value of the DB_CACHE_SIZE parameter should not be 16 KB.
D. The DB_16K_CACHE_SIZE parameter should be set to a value less than that of DB_CACHE_SIZE.
E. The DB_BLOCK_SIZE parameter must be set to a value greater than 16 KB.

Answer: B

NEW QUESTION 11
Examine this command and its partial output:

Why does the DB01.abc.com service show unknown status?

A. The listener does not listen on the default port 1521.
B. The SID_LIST_LISTENER section is missing in the LISTENER.ORA file.
C. The service is dynamically registered.
D. The service is statically registered.
E. The LOCAL_LISTENER parameter list does not contain LISTENER_1.

Answer: B

NEW QUESTION 14
Which two tasks does DBUA perform by default? (Choose two.)

A. setting user tablespaces to “read only” before starting the upgrade
B. adding more data files if there is insufficient disk space for the SYSTEM tablespace during the upgrade
C. running the Pre-Upgrade information tool
D. starting the source database instance if not started
E. enabling flashback in the source database if not enabled

Answer: AC

NEW QUESTION 18
Which two are true about RETENTION GUARANTEE? (Choose two.)

A. It is a tablespace attribute.
B. It prevents FLASHBACK DATABASE operation failure.
C. It prevents out-of-space errors.
D. It prevents “Snapshot too old” errors.
E. It is a static parameter.

Answer: AB

NEW QUESTION 23
In the ORCL database, UNDOTBS1 is the active undo tablespace with a fixed size of 70 MB and RETENTION GUARANTEE.
UNDO_RETENTION is set to 15 minutes and the tablespace does not have AUTOEXTEND on.
Which statement is true about a transaction if UNDOTBS1 fills with uncommitted undo within 10 minutes of the transaction’s first update?

A. It succeeds and the generated undo is stored in SYSAUX.
B. It succeeds and the generated undo is stored in TEMP.
C. It fails and returns the error message “Snapshot too old”.
D. It succeeds and the generated undo is stored in SYSTEM.
E. It fails and returns the error message “ORA=30036”: unable to extend segment by 8 in undo tablespace ‘UNDOTBS1’”.
F. It succeeds and the least recently used undo block UNDOTBS1 is overwritten by the generated undo.

Answer: F

NEW QUESTION 24
Examine this command:
CREATE TEMPORARY TABLESPACE temp_tbs TEMPFILE ‘temp01.dbf’ SIZE 10M AUTOEXTEND ON ONLINE
SEGMENT MANAGEMENT AUTO;
Which two changes must you make so that TEMP_TBS is created? (Choose two.)
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A. Add the EXTENT MANAGEMENT LOCAL UNIFORM clause.
B. Add the NOLOGGING clause.
C. Remove the SEGMENT MANAGEMENT AUTO clause.
D. Remove the AUTOEXTEND ON clause.
E. Remove the ONLINE clause.
F. Add MAXSIZE for the AUTOEXTEND ON clause.

Answer: AF

NEW QUESTION 26
The ORCL database has DEFERRED_SEGMENT_CREATION set to TRUE. UNDOTBS2 is the active undo tablespace.
Examine these commands:

USER1 executes DML, which generates more than 2 MB of UNDO. What is the result and why?

A. It suspends the transaction, which can be resumed by increasing the size of UNDOTBS2.
B. It returns an error because UNDOTBS2 is fixed size and has RETENTION GUARANTEE.
C. It suspends the transaction, which can be resumed by increasing USER1’s quota on UNDOTBS2.
D. It returns an error because UNDOTBS2 has RETENTION GUARANTEE.
E. It suspends the transaction, which can be resumed by setting UNDOTBS1 as the active undo tablespace.
F. It returns an error because UNDOTBS2 is fixed size.

Answer: F

NEW QUESTION 29
You execute this command to connect to an instance from a client on a different machine: CONNECT username/password@net_service_name
No name servers are configured.
Which two are true about net_service_name? (Choose two.)

A. It must contain the address protocol for only one listener.
B. It must contain only one address protocol for one listener.
C. It must be defined in the tnsnames.ora file on the client side.
D. It must be defined in the tnsnames.ora file on the server side.
E. It must have the same name as the SERVICE_NAME defined in it.

Answer: DE

NEW QUESTION 32
Which two are true about direct path load?

A. It enforces only primary key, unique, and not NULL, constraints.
B. DML statements may occur on tables being loaded.
C. It fires insert triggers, if any.
D. It writes only to blocks above the high-water mark.
E. It uses the database buffer cache.

Answer: BC

NEW QUESTION 34
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Which two statements are true about Oracle Data Pump? (Choose two.)

A. expdp and impdp are its client components.
B. impdp always uses conventional path inserts when importing data.
C. The DBMS_DATAPUMP package can be used only with Data Pump clients
D. It cannot be used to export data as of a previous SCN.
E. impdp can change target data file names, schemas, and tablespaces during import.

Answer: AC

NEW QUESTION 37
The SCOTT/TIGER user exists in two databases, BOSTON_DB and DALLAS_DB, in two different locations.
Each database has a tnsnames.ora file defining DALLAS_DB as a service name. Examine this command:
CREATE DATABASE LINK dblink1 CONNECT TO scott IDENTIFIED BY tiger USING ‘dallas_db’;
How do you execute the command so that only SCOTT in BOSTON_DB can access the SCOTT schema in DALLAS_DB?

A. as SCOTT in BOSTON_DB
B. as SYS in both the databases
C. as SCOTT in BOSTON_DB and SYS in DALLAS_DB
D. as SCOTT in both the databases
E. as SCOTT in DALLAS_DB

Answer: D

NEW QUESTION 42
Which two are true about the default listener for a single instance database?

A. It listens on the default port 1521.
B. It must be defined in the listener, ORA file.
C. It uses the settings of the instance name and SERVICE_NAMES parameters from all databases using that listener.
D. It must be defined by using the Listener Control utility.
E. It must support at least one service on startup.

Answer: AB

NEW QUESTION 45
Which two are true about undo tablespaces? (Choose two.)

A. They can be recovered only when an instance is in MOUNT state.
B. They are always owned by SYS.
C. They must have only one data file.
D. There can be multiple active undo tablespaces for a single instance database.
E. SYSDBA users can create objects in them.

Answer: CD

NEW QUESTION 50
......
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